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Answer Key

PART Il: READING COMPREHENSION

A. Choose the best answer according to the text.

. B (used forms of transport that damage the environment)

1
2. A (Cars)

3. D (water vapour)

4. C ( Take other people with you)
5

. D (they drive to places they could easily go on foot)

B. Answer the following questions according to the text.

. It causes global warming.

(30 MARKS)

(5x3=15 marks)

(3x3=9 marks)

1
2. Electricity is cheaper , much more environmentally friendly, and makes less harm.
3

. Use a bicycle, rollerblades or even walk.

C. Match the words in column A, in bold in the text, with the definitions in column

1. d (plays a big part)
2. e (choices)
3. h (offered)
4. g (pressure)
5. a (first)

6. c (entertaining)

PART Ill: USE OF ENGLISH
A. Choose the correct alternative.

1. b (called off) 6. b (started)
2. d (which) 7.d (such)
3. a (had been) 8. ¢ (might)
4. ¢ (will be having) 9. b (were)

5. a (into) 10. a (had)

(6x1=6 marks)

(40 MARKYS)
(10x1=10 marks)
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B. Complete the second sentence so that it has a similar meaning to the first
sentence, using the word given. Do not change the word given. (5x2=10 marks)

.. must have been ...

.. have your bike fixed ...
.. in order not to catch ...
.. as long as you say ...
.. wouldn’t have sold

arwnE

C. Use the word given to form a word that fits the blank. (10x1=10 marks)
Extreme sports

. excitement
. beginners

. advanced

. differently

. Smallest

. training

. instruction

. Importance
. confidence
. unexpected

CQOowoo~NOUM~WNE

D. Complete the gaps with ONE suitable word. (10x1=10 marks)
SAFE SCHOOLING

. their
. and
. such
if

do
as

. able
. one
. will

. hot

COONOUAWNER



